Vinslovs BK
Partavling 2019-05-13

Partavling, 3 bord, 6 par. Antal brickor: 25. Medel: 50.0.

Plac Par Poang % Namn MID Klubb
1 4 62 62.00 Leif Johnsson - Goran Skoglésa 31310 31306 Vinslévs BK
2 5 51 51.00 Lennart Ahlstedt - Arne Ljungars 31302 31307 Vinslovs BK
3 1 50 50.00 Bertil Ohlsson - Kjell Persson 38823 39157 Vinslévs BK
4 2 47 47.00 Lars Jonsson - Ake Larsson 14292 31308  Vinslévs BK
5 3 45 45.00 Ingvar Nilsson - Christer Schénhult 39155 39156 Vinslovs BK
5 6 45 45.00 Eva Folkesson - Christina Martensson 39153 31309  Vinslévs BK
1 + EK1032 Basta kontrakt 2 4 Kn5 Basta kontrakt 3 4 E1052 Basta kontrakt
Nord v98 3vy OD-1100 Ost v DKn975 34 O =-140 Syd vDKn74 44 S =420
Ingen + D942 NS +98 ov +9
#Kn3 & ¢ v & NT #E542 & ¢ v & NT #EK65 & ¢ v & NT
4« DKn75 498 N9 7 486 410642 & EKD98 N9 86 36 4K84 4D97 N 8 7 10109
v EK10632 vKn74 S97 486 vK10642 vE S 986 36 v9853 vK S 8 7 10109
+K ¢+ E10865 035844 41053 ¢ DKn7 045697 ¢ 8532 ¢ E1064 054333
£82 K74 V35854 *6 #10987 V45697 £93 #DKn1082 V 5 4 3 3 3
464 473 4 Kn63
vD5 v 83 vE1062
¢+ Kn73 + EK642 ¢ KDKn7
#ED10965 #KDKn3 *74
Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
2 4 2vV+l oK -140 2.0 20 2 4 36 0= ¢ A -140 3.0 1.0 6 1 4v S+1 +8 450 40 0.0
35 2vV+l *J -140 2.0 2.0 35 20+1 *A -140 3.0 1.0 3 5 3NS+1 v5 430 20 2.0
6 1 2vV+l oK -140 20 20 6 1 34 O+1 +K -170 0.0 4.0 2 4 3vyN-1 *9 -50 0.0 4.0
4 » Kn9864 Bésta kontrakt 5 4 D32 Bésta kontrakt 6 2 D764 Bésta kontrakt
Vast v 752 ANT V =-630 Nord vED8 24 OD-1100 Ost v76 5NT S =460
Alla 49874 NS ¢ Kn32 ov ¢ E942
3 & ¢ v & NT 10832 & ¢ v & NT #KKn2 & ¢ v & NT
4 E2 & K1073 N2 2542 4106 #E8754 N75867 485 4 K932 N 9 11101111
vKnl108 vD6 S 33543 v1097 vKn6 S75867 vD9853 v42 S 9 11101111
¢ EK3 ¢ DKn105 O 10108 8 10 49864 ¢ KD107 06 8575 ¢ Kn753 ¢ 106 032322
#EKI975 #1064 VvV 10108 8 10 #EK65 #Kn9 V68575 D4 #E8765 V32322
D5 & KKn9 4 EKn10
v EK943 v K5432 v EKKn10
¢ 62 ¢ E5 + KD8
#DKn82 +D74 #1093
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
6 1 3NV= 49 -600 4.0 0.0 35 2640-2 v2 100 40 0.0 4 3 3NS+2 +3 460 40 0.0
2 4 3NV+1 Ly -630 1.0 3.0 2 4 24 0-1 *A 50 20 2.0 1 5 3NS= +5 400 20 2.0
3 5 3NV+1 46 -630 1.0 3.0 6 1 3vS-1 aT -100 0.0 4.0 6 2 3NS-1 ¢ 7 -50 0.0 4.0
7 &D Bésta kontrakt 8 498 Bésta kontrakt 9 4103 Bésta kontrakt
Syd v 9832 34 V =-140 Vast v 98653 34 VD-1100 Nord v Kn10765 6NT O =-1440
Alla ¢ E2 Ingen + ED872 ov ¢ Kn53
#EK8754 & ¢ v & NT «D & ¢ v & NT 853 & ¢ v & NT
»108 4EKN9765 N 6 7 5 4 5 2 D10532 «E4 N4 9756 aE4 & K9872 N14421
vE64 vK1075 S6 7535 vKD10 v Kn42 S 48756 vKD4 v383 S14421
¢ D97 + K6 06 57 9 8 4954 + K6 09 4587 ¢ EK976 ¢ - O 129 9 1012
#109632 #Kn V657938 *K4 #E109653 V 9 4 5 8 7 *K74 #EDKn1062 V 129 9 1012
& K432 » KKn76 & DKn65
vDKn vE7 vE92
+ Kn108543 + Kn103 + D10842
D #Kn872 *9
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
15 340= *0Q -140 2.0 20 6 2 240= vA -90 4.0 0.0 15 464 V= aT -620 4.0 0.0
4 3 340= *Q -140 2.0 2.0 4 3 3¢ N-2 s A -100 2.0 2.0 6 2 3NV +3 v7 -690 2.0 2.0
6 2 34 0= *Q -140 2.0 20 15 20V= v9 -110 0.0 4.0 4 3 6NV= v5 -1440 0.0 4.0
10 & K952 Bésta kontrakt 11 4 D843 Bésta kontrakt 12 « E98 Bésta kontrakt
Ost v 109864 3NT O =-600 Syd vD 4¢ S =130 Vast v EKn2 44 V =-420
Alla ¢ E Ingen + D9864 NS ¢ Kn52
#1072 & ¢ v & NT #Kn32 & ¢ v & NT #Kn987 & ¢ v & NT
4 ED763 8 N3 3444 a7 «KKn10952 N 7 105 6 8 4 DKn72 &K1053 N7 3434
vE7 vKD32 S 33444 vEK852 v1076 S 7 105 6 8 vK953 v1086 S7 3434
¢+ DKn1082 ¢ 76 O 109 8 8 9 +75 ¢ Knl0 06 37765 +98 ¢+ EKD64 O6 9 9 106
*E #KKn9%643 VvV 109 8 8 9 #E9764 #108 V63775 »642 *E V6 9 9 106
4« Kn104 4 E6 464
v Kn5 v Kn943 vD74
¢ K9543 ¢ EK32 41073
#D85 #KD5 #KD1053
Par  Kontr Ut Res  Poang Par  Kontr Ut Kontr Ut Res  Poang
15 3NV-2 vT 20 2.0 5 4 3vyDV-2 +8 21 4v V-1 aA 50 40 0.0
4 3 3NV-2 va 20 2.0 6 3 2NS+2 vA 5 4 24 O+1 &K -140 2.0 2.0
6 2 3NV-2 vT 20 20 21 3vV-2 a3 6 3 24 O+2 &5 -170 0.0 4.0
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13 4 KDKn9 Basta kontrakt 14 4E3 Basta kontrakt 15 4 Kn75 Basta kontrakt
Nord v 108754 2NT N =120 Ost v KD10532 INT S =1520 Syd v 864 64 V D -2 300
Alla + K9 Ingen 495 NS +ED
»E3 & ¢ v & NT «K102 v NT #D10532 LR & NT
«E1082 #7653 N8 5858 28 » Kn1097654 1 13 1098632 4 EKD N 123 3 10
vKKn2 vE3 S$85858 v 984 v6 1 vKn v K9532 S 123
¢ Kn762 ¢ E10854 058555 ¢ KKn10842 ¢ 76 0 ¢ K107654 + 832 o019
*82 *107 V58575 *D73 £984 0 »- *K4 vVi1io9
a4 4 KD2 Ly
v D96 v EKn7 vED107
+D3 ¢+ ED3 + Kn9
#KDKn9654 #EKn65 #EKn9876
Par  Kontr Ut Res Poang Par  Kontr Ut Par  Kontr Ut
2 1 4vyN-2 ¢ A -200 2.0 2.0 6 3 6y N= *7 6 3 3#S+1 vl] 4.0 0.0
5 4 4v N-2 *A -200 2.0 2.0 2 1 49 N+2 ] 2 1 3aV+1 *2 20 2.0
6 3 4v N-2 *A -200 2.0 2.0 5 4 4v S+2 48 5 4 5a V= *2 0.0 4.0
a- Basta kontrakt 17 4 K5 Basta kontrakt 18 4104 Basta kontrakt
Vast v Kn753 6v N D -3-500 Nord vE1082 Ost v 1073
oV ¢ 764 Ingen ¢ Kn972 NS + D984
#EK10852 & ¢ v & NT *E73 & ¢ v &aN *K1087 L IR
~4KKn985 4E106432 N 7 1 9 1 2 « EDKNn7 #9832 N8 6 957 « D83 ~E6 N6 31
vK2 v9 S71912 vD5 v 764 S86 957 v EKD vKn98654 S 6 3 1
¢ EKn1092 ¢ K5 06 9 4 1110 +D1064 +E85 056476 ¢ E10753 ¢ K6 0791
*7 #DKn93 V 6 104 1110 *D82 #KKn5 V5647€6 #E3 #962 V69l
D7 41064 & KKn9752
vED10864 v KKn93 v2
+ D83 + K3 ¢ Kn2
»64 #10964 #DKn54
Par  Kontr ut Res  Poang Par  Kontr ut Par  Kontr ut
1 3 5vS-2 *7 -100 4.0 0.0 1 3 2vS= *Q 4.0 0.0 52 3¢V= oT 4.0 0.0
5 2 4e V= *K -620 2.0 2.0 52 INS-1 a7 20 2.0 6 4 34 S-3 vA 2.0 20
6 4 44 V+2 +K -680 0.0 4.0 6 4 24 O= vK 0.0 4.0 1 3 4v 0= a2 0.0 4.0
« ED1095 Bésta kontrakt 20 & Kn3 Bésta kontrakt 21 4 E8 Bésta kontrakt
Syd v 865 3v SD-1-100 Vast v Kn972 Nord v 876532 44 O D -1 100
oV + 87 Alla + KDKn943 NS +76
#ED3 & ¢ v & NT *Kn ¢ v &N *Kn86 & ¢ v &N
4Kn8432 476 N8 4865 +96 « ED1052 38547 aKn « D97654 N45956
vD2 v EKn10 S84865 vED543 v108 38547 v DKn9 v10 S45956
¢ Kn932 ¢ EK1054 049477 +10 ¢E2 105 8 9 6 ¢ K53 ¢ DKn98 097477
106 *K84 V49477 #E8754 #10632 105 8 9 6 #EKD1073 #92 V97477
oK & K874 4 K1032
v K9743 v K6 v EK4
+ D6 + 8765 ¢ E1042
#Kn9752 »KD9 #54
Par  Kontr Ut Res  Poang Par  Kontr Ut Par  Kontr Ut
13 2vS= +J 110 4.0 0.0 52 240= +8 4 1 44 O-2 vA
6 4 INO-1 K 100 20 2.0 1 3 4¢ N-2 vT 6 5 3NV-1 *7
5 2 4vS-2 48 -100 0.0 4.0 6 4 4¢ N-2 v8 3 2 3vyN-1 *9 -100 0.0 4.0
2 ~E76 Bésta kontrakt 23 4953 Bésta kontrakt 24 4 D62 Bésta kontrakt
Ost v 1076532 5v S =450 Syd v53 Vast v76
oV 2 Alla + KD1085 Ingen + KD7
+D109 & ¢ v & NT #K104 v & N #D9743 & ¢ v &N
4 KD543 4 Kn1082 N 105 116 8 4 KKn64 & ES82 N 545 4 E73 K108 6 6 4 65
v 84 vD9 S 105 116 8 vED109 vK6 S 555 vKD984 v1053 6 6 465
¢+ D8654 ¢ KKnl10 027171 +6 ¢ 432 O 7 86 +Knl1086 ¢ 94 6 79 6 8
*2 *E873 v27171 #Kn863 #D9752 \ 786 +10 »EK652 6 79 6 8
49 « D107 « Kn954
v EKKn v Kn8742 v EKn2
¢+ E973 ¢ EKn97 ¢ E532
#KKn654 *E «Kn8
Par  Kontr Ut Res  Poang Par  Kontr Ut Par  Kontr Ut
4 1 59yDN+1 43 750 4.0 0.0 6 5 2¢ S= *8 4.0 0.0 4 1 24 N= v5 4.0 0.0
6 5 4v N+2 ] 480 20 2.0 32 240+3 v4 20 2.0 3 2 Pass 20 2.0
3 2 4vyN+1 A 450 0.0 4.0 4 1 4¢ N-2 & A 0.0 4.0 6 5 4v V= &7 0.0 4.0
# K10854 Bésta kontrakt
Nord vD3 7NT O =-2220
ov + DKn932
»8 & ¢ v & NT
4 E92 463 N36060
v8 vEK1097652 S 3 6 0 6 O
¢ EK106 ¢4 O 106 137 13
#ED743 4106 V 107 137 13
« DKn7
v Kn4
+ 875
#KKn952
Par  Kontr Ut Res  Poang
3 2 54 N-6 vK -300 4.0 0.0
4 1 4v O+3 4Q -710 2.0 2.0
6 5 3NV +4 +Q -720 0.0 4.0




